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=G J\Eth 2 2 25 3 12.0
AR =R 1 1 22 1 45
N 2 2 60 6 10.0
B 1 1 21 3 14.3
H #7441 2 2 37 3 8.1
FEEPET 2 1 53 1 19
AFE AMigm 3 3 119 16 134
ZRMH 2 2 90 16 17.8
LLI FH T 2 2 30 3 10.0
fERT= B 1 1 50 4 8.0
TR 2 1 25 1 4.0
FI BT 1 1 15 1 6.7
BARMH 1 1 18 1 5.6
%I BT 1 1 12 1 8.3
W& 2 2 21 4 19.0
1L STHT 2 2 17 4 235
SALiB™ 3 2 69 5 7.2
THE &Xh 1 1 18 6 333
K5t 2 2 32 5 15.6
E2-2Ai1] 1 1 15 1 6.7
T4 iEET 1 0 31 0 0.0
FRM 1 1 15 4 26.7
A& 3 3 68 16 235
el 1 1 12 3 25.0
Frith T 1 1 15 1 6.7
HEM 2 1 39 1 26
ET) 2 2 73 16 21.9
A HEHT 2 2 61 20 32.8
Bt 1 1 19 6 31.6
S HrHT 1 1 20 7 35.0
mtEETh 1 1 25 5 20.0
& WRET 1 1 22 3 13.6
SRILET 1 1 103 11 10.7
S L) 1 1 36 3 8.3
BER B 1 1 18 3 16.7
Eam 1 1 18 2 11.1
BREEHT 6 5 93 11 11.8
FEEHT 1 1 45 7 15.6
N Nit) 1 1 22 2 9.1
A= 1 1 25 4 16.0
BETH 1 1 13 2 15.4
SERET 3 3 62 16 25.8
AEH 1 1 25 6 24.0
LhEM 2 2 36 8 22.2
[0y ==Y YNt 1 1 25 7 28.0
BEIE™H 1 0 15 0 0.0
b i) 3 2 41 7 171
g 1S El& 300 1 1 19 5 26.3
P BiEH 1 1 33 3 9.1
LR 1 1 20 4 20.0
Bif 1 1 10 1 10.0
EiAm 1 0 14 0 0.0
BEHTH 1 1 18 1 5.6
FER JETH 1 1 19 2 105
EHi 1 1 17 3 17.6
EHE EH 1 1 13 1 7.7
&5t 85 76 1,889 276 14.6
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§ B ZHEED BE(N) SHEME(N) ZHEEIE (%)
EHE 1 1 12 3 25.0
5FE 1 1 19 2 10.5
=EHE 1 1 12 1 8.3
REER 1 1 30 3 10.0
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